
Accessoires
GREASE NIPPLE 180°

Pa
rtn

r

G L1 L2 SW Mat
er

ial

2820-0000-0600 M6x1 con 5,5 15 7 Galvanised

2820-0000-0800 M8x1 con 5,5 15 9 Galvanised

2820-0000-1000 M10x1 con 5,5 15 11 Galvanised

2820-0100-0200 R1/8 con 5,5 15 11 Galvanised

2820-0100-0400 R1/4 con 6,5 17,5 14 Galvanised

2820-2000-0600 M6x1 con 5,5 15 7 Stainless steel 316TI

2820-2000-0800 M8x1 con 5,5 15 9 Stainless steel 316TI

2820-2000-1000 M10x1 con 5,5 15 11 Stainless steel 316TI


